# A generalization of the array type polynomials 

Mohammad Masjed-Jamei, Gradimir V. Milovanović*, Muhammet Cihat Dağli


#### Abstract

We introduce a generalization of the array type polynomials by using two specific generating functions and investigate some of its basic properties in the sequel. A recurrence relation and two summation formulas involving these polynomials are also given.


## 1. Introduction

The Appell polynomials $A_{n}(x)$ defined by

$$
f(t) \mathrm{e}^{x t}=\sum_{n=0}^{\infty} A_{n}(x) \frac{t^{n}}{n!},
$$

where $f(t)$ is a formal power series in $t$, have found many considerable applications in mathematics, theoretical physics and chemistry [1,23]. One the well-known examples of these polynomials is the Bernoulli polynomials for the so-called Bose-Einstein function

$$
f(t)=\varepsilon(t)=\frac{t}{\mathrm{e}^{t}-1} .
$$

This function was also used in [5] as a weight function on $(0,+\infty)$ in construction of Gaussian quadrature formulas for numerical calculation of integrals, which frequently occur in connection with the evaluation, in the independent particle approximation, of thermodynamic variables for solid state physics problems for boson systems. This kind of weighted integrals, with the Bose-Einstein weight functions $\varepsilon(t)$ are also found to provide very effective tools for the summation of slowly convergent series whose general

[^0]term is expressible in terms of a Laplace transform or its derivative. Such method is known as the Laplace transform method (cf. [17, pp. 398-401]).

Another example known in the literature as the generalized ApostolBernoulli polynomials can be defined as [9-11]

$$
\begin{equation*}
\left(\frac{t}{\lambda \mathrm{e}^{t}-1}\right)^{m} \mathrm{e}^{x t}=\sum_{n=0}^{\infty} B_{n}^{(m)}(x, \lambda) \frac{t^{n}}{n!} \tag{1}
\end{equation*}
$$

where $\lambda \in \mathbb{C}$, and $|t|<2 \pi$ for $\lambda=1$ and $|t|<|\log \lambda|$ for $\lambda \neq 1$. For $x=0$ in (1), the generalized Apostol-Bernoulli numbers are derived (see also $[13,14,21,22]$ in this sense).

On the other hand, the generalized $\lambda$-Stirling numbers of the second kind $S_{m}^{n}(\lambda)$ were introduced in [12] as

$$
\begin{equation*}
\frac{\left(\lambda \mathrm{e}^{t}-1\right)^{m}}{m!}=\sum_{n=0}^{\infty} S_{m}^{n}(\lambda) \frac{t^{n}}{n!} \tag{2}
\end{equation*}
$$

for $\lambda \in \mathbb{C}$ and $m \in \mathbb{N}_{0}=\{0,1,2, \ldots$,$\} , where \lambda=1$ gives the well known Stirling numbers of the second kind.

By referring to (2), the $\lambda$-array type polynomials $S_{m}^{n}(x, \lambda)$ are defined as [3]

$$
\begin{equation*}
\frac{\left(\lambda \mathrm{e}^{t}-1\right)^{m}}{m!} \mathrm{e}^{x t}=\sum_{n=0}^{\infty} S_{m}^{n}(x, \lambda) \frac{t^{n}}{n!} \tag{3}
\end{equation*}
$$

see also [4,18-20]. In [2], the authors deduced some notable identities associated with $\lambda$-array type polynomials, $\lambda$-Stirling numbers of the second kind and the Apostol-Bernoulli numbers. Furthermore, they studied $\lambda$-array polynomials via $\lambda$-delta operator. For more details see [6-8] and references therein.

In this paper, we define two parametric kinds of $\lambda$-array type polynomials as follows:

$$
\begin{equation*}
\frac{\left(\lambda \mathrm{e}^{t}-1\right)^{m}}{m!} \mathrm{e}^{x t} \cos y t=\sum_{n=0}^{\infty} S_{m}^{n, c}(x, y, \lambda) \frac{t^{n}}{n!} \tag{4}
\end{equation*}
$$

and

$$
\frac{\left(\lambda \mathrm{e}^{t}-1\right)^{m}}{m!} \mathrm{e}^{x t} \sin y t=\sum_{n=0}^{\infty} S_{m}^{n, s}(x, y, \lambda) \frac{t^{n}}{n!}
$$

which are, in fact, the real and the imaginary part of

$$
\frac{\left(\lambda \mathrm{e}^{t}-1\right)^{m}}{m!} \mathrm{e}^{(x+\mathrm{i} y) t}
$$

respectively.

Motivated by some of above-mentioned papers, we then introduce a bivariate kind of $\lambda$-array type polynomials and investigate its general properties. We also derive a recurrence relation and some summation formulas including these polynomials and other special polynomials and numbers such as parametric-kind Apostol-Bernoulli, generalized Apostol-Bernoulli numbers, and generalized $\lambda$-Stirling numbers of the second kind.

## 2. A FAMILY OF $\lambda$-ARRAY TYPE POLYNOMIALS

For two sequences $\left\{a_{n}\right\}_{n \in \mathbb{N}_{0}}$ and $\left\{b_{n}\right\}_{n \in \mathbb{N}_{0}}$ such that

$$
A(t)=\sum_{n=0}^{\infty} a_{n} \frac{t^{n}}{n!} \text { and } B(t)=\sum_{n=0}^{\infty} b_{n} \frac{t^{n}}{n!}
$$

their binomial convolution is given by

$$
c_{n}=a_{n} * b_{n}=\sum_{k=0}^{n}\binom{n}{k} a_{k} b_{n-k}
$$

Also, we have the following generating function for the sequence $\left\{c_{n}\right\}_{n \in \mathbb{N}_{0}}$ as

$$
C(t)=A(t) B(t)=\sum_{n=0}^{\infty} c_{n} \frac{t^{n}}{n!}
$$

By noting these comments, the Taylor-Maclaurin expansions of the two functions $\mathrm{e}^{x t} \cos y t$ and $\mathrm{e}^{x t} \sin y t$ are explicitly computed as (see e.g. [15] and [16])

$$
\begin{equation*}
\mathrm{e}^{x t} \cos (y t)=\sum_{n=0}^{\infty} C_{n}(x, y) \frac{t^{n}}{n!} \tag{5}
\end{equation*}
$$

and

$$
\mathrm{e}^{x t} \sin (y t)=\sum_{n=0}^{\infty} S_{n}(x, y) \frac{t^{n}}{n!}
$$

where $C_{n}(x, y)$ and $S_{n}(x, y)$ are defined respectively as follows:

$$
C_{n}(x, y)=\sum_{k=0}^{\left[\frac{n}{2}\right]}(-1)^{k}\binom{n}{2 k} x^{n-2 k} y^{2 k}
$$

and

$$
S_{n}(x, y)=\sum_{k=0}^{\left[\frac{n-1}{2}\right]}(-1)^{k}\binom{n}{2 k+1} x^{n-2 k-1} y^{2 k+1}
$$

in which $[x]$ stands for the greatest integer of $x$.

By observing the definitions of $\lambda$-Stirling numbers of the second kind $S_{m}^{n}(\lambda), C_{n}(x, y)$ and $S_{n}(x, y)$, we can now introduce two parametric kinds of $\lambda$-array type polynomials as follows

$$
S_{m}^{n, c}(x, y, \lambda)=S_{m}^{n}(\lambda) * C_{n}(x, y)
$$

and

$$
S_{m}^{n, s}(x, y, \lambda)=S_{m}^{n}(\lambda) * S_{n}(x, y)
$$

whose generating functions are respectively defined by

$$
\sum_{n=0}^{\infty} S_{m}^{n, c}(x, y, \lambda) \frac{t^{n}}{n!}=\frac{\left(\lambda \mathrm{e}^{t}-1\right)^{m}}{m!} \mathrm{e}^{x t} \cos y t
$$

and

$$
\sum_{n=0}^{\infty} S_{m}^{n, s}(x, y, \lambda) \frac{t^{n}}{n!}=\frac{\left(\lambda \mathrm{e}^{t}-1\right)^{m}}{m!} \mathrm{e}^{x t} \sin y t
$$

from which it is readily deduced that

$$
S_{m}^{n, c}(x, y, \lambda)=\sum_{k=0}^{n}\binom{n}{k} S_{m}^{k}(\lambda) C_{n-k}(x, y)
$$

and

$$
S_{m}^{n, s}(x, y, \lambda)=\sum_{k=0}^{n}\binom{n}{k} S_{m}^{k}(\lambda) S_{n-k}(x, y)
$$

Theorem 1. For every $n \in \mathbb{N}$, we have

$$
\begin{equation*}
S_{m}^{n, c}(2 x, y, \lambda)=\sum_{k=0}^{n}\binom{n}{k} S_{m}^{k, c}(x, y, \lambda) x^{n-k} \tag{6}
\end{equation*}
$$

and

$$
\begin{equation*}
S_{m}^{n, s}(2 x, y, \lambda)=\sum_{k=0}^{n}\binom{n}{k} S_{m}^{k, s}(x, y, \lambda) x^{n-k} \tag{7}
\end{equation*}
$$

Proof. From (4), one can write

$$
\begin{aligned}
\sum_{n=0}^{\infty} S_{m}^{n, c}(2 x, y, \lambda) \frac{t^{n}}{n!} & =\frac{\left(\lambda \mathrm{e}^{t}-1\right)^{m}}{m!} \mathrm{e}^{2 x t} \cos y t \\
& =\left(\sum_{n=0}^{\infty} S_{m}^{n, c}(x, y, \lambda) \frac{t^{n}}{n!}\right)\left(\sum_{n=0}^{\infty} \frac{(x t)^{n}}{n!}\right) \\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} S_{m}^{k, c}(x, y, \lambda) x^{n-k}\right) \frac{t^{n}}{n!}
\end{aligned}
$$

Comparing the coefficients of $t^{n} / n$ ! on the both sides yields the desired identity (6). Equality (7) can be obtained similarly.

Theorem 2. For $n \in \mathbb{N}$ and $z \in \mathbb{R}$ we have

$$
S_{m}^{n, c}(x+z, y, \lambda)=\sum_{k=0}^{n}\binom{n}{k} S_{m}^{k, c}(x, y, \lambda) z^{n-k}
$$

and

$$
S_{m}^{n, s}(x+z, y, \lambda)=\sum_{k=0}^{n}\binom{n}{k} S_{m}^{k, s}(x, y, \lambda) z^{n-k}
$$

Proof. Using (4), one has

$$
\sum_{n=0}^{\infty} S_{m}^{n, c}(x+z, y, \lambda) \frac{t^{n}}{n!}=\frac{\left(\lambda \mathrm{e}^{t}-1\right)^{m}}{m!} \mathrm{e}^{(x+z) t} \cos y t
$$

and then, the right hand side in this equality can be written as

$$
\left(\sum_{n=0}^{\infty} S_{m}^{n, c}(x, y, \lambda) \frac{t^{n}}{n!}\right)\left(\sum_{n=0}^{\infty} \frac{(z t)^{n}}{n!}\right)=\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} S_{m}^{k, c}(x, y, \lambda) z^{n-k}\right) \frac{t^{n}}{n!},
$$

which gives the first identity after equating the coefficients $t^{n} / n$ !. The second one can be derived in a similar way.

Theorem 3. For $r, n \in \mathbb{N}$, with $n \geq r$, the following derivative formulas hold:

$$
\begin{align*}
\frac{\partial^{r}}{\partial x^{r}}\left(S_{m}^{n, c}(x, y, \lambda)\right) & =\langle n\rangle_{r} S_{m}^{n-r, c}(x, y, \lambda)  \tag{8}\\
\frac{\partial^{r}}{\partial x^{r}}\left(S_{m}^{n, s}(x, y, \lambda)\right) & =\langle n\rangle_{r} S_{m}^{n-r, s}(x, y, \lambda) \tag{9}
\end{align*}
$$

where $\langle x\rangle_{r}$ denotes the falling factorial, defined for $x \in \mathbb{R}$ by

$$
\langle x\rangle_{r}=\prod_{k=0}^{r-1}(x-k)= \begin{cases}x(x-1) \cdots(x-r+1), & \text { if } r \geq 1 \\ 1, & \text { if } r=0\end{cases}
$$

Proof. Using (4), we have

$$
\begin{aligned}
\sum_{n=0}^{\infty} \frac{\partial^{r}}{\partial x^{r}}\left(S_{m}^{n, c}(x, y, \lambda)\right) \frac{t^{n}}{n!} & =\frac{\partial^{r}}{\partial x^{r}} \frac{\left(\lambda \mathrm{e}^{t}-1\right)^{m}}{m!} \mathrm{e}^{x t} \cos y t \\
& =\sum_{n=0}^{\infty}\langle n\rangle_{r} S_{m}^{n-r, c}(x, y, \lambda) \frac{t^{n}}{n!}
\end{aligned}
$$

which concludes the proof of (8).
The assertion (9) can be proved similarly.

Corollary 1. For $n \in \mathbb{N}$, the following relations are valid:

$$
\frac{\partial}{\partial y} S_{m}^{n, c}(x, y, \lambda)=-n S_{m}^{n-1, s}(x, y, \lambda)
$$

and

$$
\frac{\partial}{\partial y} S_{m}^{n, s}(x, y, \lambda)=n S_{m}^{n-1, c}(x, y, \lambda)
$$

Theorem 4. For $n \in \mathbb{N}$, two parametric kinds of $\lambda$-array type polynomials $S_{m}^{n, c}(x, y, \lambda)$ and $S_{m}^{n, s}(x, y, \lambda)$ satisfy the following recurrent relations:

$$
\begin{equation*}
\lambda S_{m}^{n, c}(x+1, y, \lambda)=(m+1) S_{m+1}^{n, c}(x, y, \lambda)+S_{m}^{n, c}(x, y, \lambda) \tag{10}
\end{equation*}
$$

and

$$
\begin{equation*}
\lambda S_{m}^{n, s}(x+1, y, \lambda)=(m+1) S_{m+1}^{n, s}(x, y, \lambda)+S_{m}^{n, s}(x, y, \lambda) \tag{11}
\end{equation*}
$$

Proof. From (4), we have

$$
\begin{aligned}
\lambda \sum_{n=0}^{\infty} S_{m}^{n, c}(x & +1, y, \lambda) \frac{t^{n}}{n!}=\lambda \frac{\left(\lambda \mathrm{e}^{t}-1\right)^{m}}{m!} \mathrm{e}^{(x+1) t} \cos y t \\
& =\frac{\left(\lambda \mathrm{e}^{t}-1\right)^{m}}{m!} \mathrm{e}^{x t} \cos y t\left\{\lambda \mathrm{e}^{t}-1+1\right\} \\
& =(m+1) \frac{\left(\lambda \mathrm{e}^{t}-1\right)^{m+1}}{(m+1)!} \mathrm{e}^{x t} \cos y t+\frac{\left(\lambda \mathrm{e}^{t}-1\right)^{m}}{m!} \mathrm{e}^{x t} \cos y t \\
& =(m+1) \sum_{n=0}^{\infty} S_{m+1}^{n, c}(x, y, \lambda) \frac{t^{n}}{n!}+\sum_{n=0}^{\infty} S_{m}^{n, c}(x, y, \lambda) \frac{t^{n}}{n!}
\end{aligned}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$ on the both sides of the last equality leads to desired identity (10). The relation (11) follows easily in a similar way.

Theorem 5. The following summation formulas are true

$$
\begin{align*}
& \sum_{k=0}^{n+m}\binom{n+m}{k} S_{m}^{n+m-k, c}(x, y, \lambda) B_{k}^{(m)}(\lambda)  \tag{12}\\
&=\left\{\begin{array}{cl}
\binom{n+m}{m} C_{n}(x, y), & \text { if } n \geq 0 \\
0, & \text { if }-m \leq n \leq-1
\end{array}\right.
\end{align*}
$$

and

$$
\begin{align*}
& \sum_{k=0}^{n+m}\binom{n+m}{k} S_{m}^{n+m-k, s}(x, y, \lambda) B_{k}^{(m)}(\lambda)  \tag{13}\\
&=\left\{\begin{array}{cl}
\binom{n+m}{m} S_{n}(x, y), & \text { if } n \geq 0 \\
0, & \text { if }-m \leq n \leq-1,
\end{array}\right.
\end{align*}
$$

where $B_{k}^{(m)}(\lambda)$ is the generalized Apostol-Bernoulli numbers.

Proof. Consider the equality

$$
\left(\frac{t}{\lambda \mathrm{e}^{t}-1}\right)^{m} \frac{\left(\lambda \mathrm{e}^{t}-1\right)^{m}}{m!} \mathrm{e}^{x t} \cos y t=\frac{t^{m}}{m!} \mathrm{e}^{x t} \cos y t
$$

Making use of (1) for $x=0$, (4) and (5), we find that

$$
\sum_{n=0}^{\infty} B_{n}^{(m)}(\lambda) \frac{t^{n}}{n!} \sum_{n=0}^{\infty} S_{m}^{n, c}(x, y, \lambda) \frac{t^{n}}{n!}=\frac{t^{m}}{m!} \sum_{n=0}^{\infty} C_{n}(x, y) \frac{t^{n}}{n!}
$$

So, we have

$$
\begin{array}{r}
\sum_{n=-m}^{\infty} \sum_{k=0}^{n+m}\binom{n+m}{k} B_{k}^{(m)}(\lambda) S_{m}^{n+m-k, c}(x, y, \lambda) \frac{t^{n}}{(n+m)!}  \tag{14}\\
=\frac{1}{m!} \sum_{n=0}^{\infty} C_{n}(x, y) \frac{t^{n}}{n!}
\end{array}
$$

Now, if we compare the coefficients of $t^{n}$ on the both sides of (14), we reach the formula (12). The relation (13) can be derived similarly.

Theorem 6. The following relations are valid

$$
\sum_{k=0}^{n+m}\binom{n+m}{k} B_{k, c}(x, y, \lambda) S_{m}^{n+m-k}(\lambda)=\left(\frac{n+m}{m}\right) S_{m-1}^{n+m-1, c}(x, y, \lambda)
$$

and

$$
\sum_{k=0}^{n+m}\binom{n+m}{k} B_{k, s}(x, y, \lambda) S_{m}^{n+m-k}(\lambda)=\left(\frac{n+m}{m}\right) S_{m-1}^{n+m-1, s}(x, y, \lambda)
$$

where $B_{k, c}(x, y, \lambda)$ and $B_{k, s}(x, y, \lambda)$ are two parametric kinds of ApostolBernoulli polynomials, presented in [22, Eq.8], and $S_{m}^{n}(\lambda)$ is the generalized $\lambda$-Stirling numbers of the second kind, given by (2).

Proof. Consider the equality

$$
\frac{1}{t^{m}}\left(\frac{t}{\lambda \mathrm{e}^{t}-1}\right)\left(\lambda \mathrm{e}^{t}-1\right)^{m} \mathrm{e}^{x t} \cos y t=\left(\frac{\lambda \mathrm{e}^{t}-1}{t}\right)^{m-1} \mathrm{e}^{x t} \cos y t
$$

Now, utilizing [22, Eq.8], (2) and (4) yields that

$$
\begin{align*}
\frac{1}{t^{m}}\left(\sum_{n=0}^{\infty} B_{n, c}(x, y, \lambda) \frac{t^{n}}{n!}\right) & \left(\sum_{n=0}^{\infty} m!S_{m}^{n}(\lambda) \frac{t^{n}}{n!}\right)  \tag{15}\\
& =\sum_{n=0}^{\infty}(m-1)!S_{m-1}^{n, c}(x, y, \lambda) \frac{t^{n-m+1}}{n!}
\end{align*}
$$

Thus, while the left hand side of (15) can be written as

$$
\begin{align*}
\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\right. & \left.\frac{B_{k, c}(x, y, \lambda)}{k!} \frac{m!S_{m}^{n-k}(\lambda)}{(n-k)!}\right) t^{n-m}  \tag{16}\\
& =\sum_{n=-m}^{\infty}\left(\sum_{k=0}^{n+m} \frac{B_{k, c}(x, y, \lambda)}{k!} \frac{m!S_{m}^{n+m-k}(\lambda)}{(n+m-k)!}\right) t^{n}
\end{align*}
$$

the right hand side can be expressed as

$$
\begin{equation*}
\sum_{n=-(m-1)}^{\infty}(m-1)!\frac{S_{m-1}^{n+m-1, c}(x, y, \lambda)}{(n+m-1)!} t^{n} \tag{17}
\end{equation*}
$$

Note that for $n=-m$, since $S_{m}^{0}(\lambda) B_{0, c}(x, y, \lambda)=0$, comparing the coefficients of $t^{n}$ of (16) and (17) gives the first identity of the theorem. The second one can be obtained in a similar way.

## 3. Acknowledgement

The first author was supported by the Alexander von Humboldt Foundation, grant No. 3.4-IRN - 1128637 - GF-E.

The work of the second author was supported in part by the Serbian Academy of Sciences and Arts ( $\Phi-96$ ).

## References

[1] F. Avram, M. S. Taqqu, Noncentral limit theorems and Appell polynomials, Annals of Probability, 15 (1987), 767-775.
[2] A. Bayad, Y. Simsek, H. M. Srivastava, Some array type polynomials associated with special numbers and polynomials, Applied Mathematics and Computation, 244 (2014), 149-157.
[3] N. P. Cakić, G. V. Milovanović, On generalized Stirling numbers and polynomials, Mathematica Balkanica, 18 (2004), 241-248.
[4] C.-H. Chang, C.-W. Ha, A multiplication theorem for the Lerch zeta function and explicit representations of the Bernoulli and Euler polynomials, Journal of Mathematical Analysis and Applications, 315 (2006), 758-767.
[5] W. Gautschi, G. V. Milovanović, Gaussian quadrature involving Einstein and Fermi functions with an application to summation of series, Mathematics of Computation, 44 (1985), 177-190.
[6] Y. He, S. Araci, H. M. Srivastava, Some new formulas for the products of the Apostol type polynomials, Advances in Difference Equations, 2016 (2016), Article ID: 287, 1-18.
[7] Y. He, S. Araci, H. M. Srivastava, M. Acikgoz, Some new identities for the ApostolBernoulli polynomials and the Apostol-Genocchi polynomials, Applied Mathematics and Computation, 262 (2015), 31-41.
[8] D.-Q. Lu, H. M. Srivastava, Some series identities involving the generalized Apostol type and related polynomials, Computers \& Mathematics with Applications, 62 (2011), 3591-3602.
[9] Q.-M. Luo, On the Apostol Bernoulli polynomials, Central European Journal of Mathematics, 2 (2004), 509-515.
[10] Q.-M. Luo, H. M. Srivastava, Some generalizations of the Apostol-Bernoulli and Apostol-Euler polynomials, Journal of Mathematical Analysis and Applications, 308 (2005), 290-302.
[11] Q.-M. Luo and H. M. Srivastava, Some relationships between the Apostol Bernoulli and Apostol Euler polynomials, Computers \& Mathematics with Applications, 51 (2006), 631-642.
[12] Q.-M. Luo, H. M. Srivastava, Some generalizations of the Apostol-Genocchi polynomials and the Stirling numbers of the second kind, Applied Mathematics and Computation, 217 (2011), 5702-5728.
[13] M. Masjed-Jamei, M. R. Beyki, W. Koepf, A new type of Euler polynomials and numbers, Mediterranean Journal of Mathematics, 15 (2018), 1-17.
[14] M. Masjed-Jamei, M. R. Beyki, E. Omey, On a parametric kind of Genocchi polynomials, Journal of Inequalities and Special Functions, 9 (2) (2018), 68-81.
[15] M. Masjed-Jamei, W. Koepf, Symbolic computation of some power-trigonometric series, Journal of Symbolic Computation, 80 (2017), 273-284.
[16] M. Masjed-Jamei, Z. Moalemi, Sine and cosine types of generating functions, Applicable Analysis and Discrete Mathematics, 15 (2021), 82-105.
[17] G. Mastroianni, G. V. Milovanović, Interpolation Processes - Basic Theory and Applications, Springer Monographs in Mathematics, Springer - Verlag, Berlin - Heidelberg, 2008.
[18] G. Ozdemir, Y. Simsek, G. V. Milovanović, Generating functions for special polynomials and numbers including Apostol-type and Humbert-type polynomials, Mediterranean Journal of Mathematics, 14 (3) (2017), Article ID: 117, 17 pages.
[19] Y. Simsek, Interpolation function of generalized $q$-Bernstein type polynomials and their application, In: Lecture Notes in Curve and Surface, Vol. 6920, Springer-Verlag, Berlin, Heidelberg and New York, 2011, 647-662.
[20] Y. Simsek, Generating functions for generalized Stirling type numbers, array type polynomials, Eulerian type polynomials and their applications, Fixed Point Theory and Applications, 2013 (2013). Article ID: 87, 28 pages.
[21] H. M. Srivastava, C. Kızılateş, A parametric kind of the Fubini-type polynomials, Revista de la Real Academia de Ciencias Exactas, Físicas y Naturales, Serie A Matemáticas - RACSAM (Journal of the Spanish Royal Academy of Sciences, Series A Mathematics), 113 (2019), 3253-3267.
[22] H. M. Srivastava, M. Masjed-Jamei, M. R. Beyki, A parametric type of the ApostolBernoulli, Apostol-Euler and Apostol-Genocchi polynomials, Applied Mathematics \& Information Sciences (AMIS), 12 (2018), 907-916.
[23] P. Tempesta, Formal groups, Bernoulli-type polynomials and L-series, Comptes Rendus de 1 Académie des Sciences - Series I - Mathematics, 345 (2007), 303-306.

Mohammad Masjed-Jamei<br>Faculty of Technical Sciences<br>Department of Mathematics<br>K. N. Toosi University of Technology P.O. Box 16315-1618 Tehran<br>Iran<br>E-mail address: mmjamei@kntu.ac.ir

Gradimir V. Milovanović
Serbian Academy of Sciences and Arts Kneza Mihaila 35, 11000 Belgrade \&
Faculty of Science and Mathematics
University of Niš
P.O. Box 224, 18000 Niš

Serbia
E-mail address: gvm@mi.sanu.ac.rs

## Muhammet Cihat Dağli

Department of Mathematics
Akdeniz University, 07058-Antalya
Turkey
E-mail address: mcihatdagli@akdeniz.edu.tr


[^0]:    2020 Mathematics Subject Classification. Primary: 11B68, 11B83, 11B73, 11B37; Secondary: 05A15, 05A19.

    Key words and phrases. Appell polynomials, array polynomials, Stirling numbers of the second kind, Apostol-Bernoulli polynomials, generating function, recurrence relation.

    Full paper. Received 5 August 2021, accepted 31 October 2021, available online 3 November 2021.
    *Corresponding author

